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Notei- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in.

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed
(D) (C) (B) (A) QUESTIONS Q-1

_q.,éﬂjlﬂJuginf/UJ}g o |
The number of bones in pectoral girdle is. '

£ L& A iy -u‘L.)”(.}Jb/d;)\__(l sl 2

This is a tertiary Carnivore.

. Lion Wolf Deer Fox

sl R e /r’.ﬁ-)“ S e vk | SE A4 -+Jﬁ4%653uffﬁﬁfu( J’/—*“/ﬂ 3

Lectobacillus | Streptococcus | Saccharomyce | Agseroiflus Alcoholic fermentation is carrigd aut in the presence

s cerevisiae of \
. : (O ) " \
ué,f,u = Wis » S Jl:‘v__fl J&'ﬂfﬁ’:{ 4
Blood ' . ; . KON e G o
groups Intelligence Weight Height An &:xarnplgy(?%A tinuous variations is

Morphine loding followmg drug is derived from minerals.
‘ tincture

A Vol 7V BESY bfj@ -4‘-6-/'6!6)’4’: 6

Cancer Bronchitis Asthma - E;ﬁ'&s@n It is a form of allergy.
\\\)

ST S P /&5 27 \ G ;44.5,@;1.;?&;#:,22‘:,;1} 7

Calcium Latex ﬁ@}\ Resins | Which one is a waste product of tomato
Oxalate ‘ < 7

Digitalis Aspirin

c}éﬁ. ﬁ,cuj_'bff gfn’bﬁu' u_'ﬁ"i" ! uﬁ&ﬂwh)ﬁdh&-ﬁ@)‘b&.ﬂub»’d 5

e
y ~7
sk e RS | iR . .0 /Cu.ua_ﬁ dusr . | 8
Glands Effectors | Coordinators Receptors | These are organs, tissues or cells that detect stimuli.

u/.."f,:;JE 3 ,“_'-“; ‘Pdf't -c'_.d/’b’);’(f’/u"wd 9

Parthenogenesis Budding Fragmentation Binary Yeast reproduces asexually by

Fission

3F oy 7S ik e b sz e AUl s LS A s | 10
Srickers L, . Bulb A small underground stem surrounded by thick, fleshy
' ' leave with stored food is called.

A Jie g | S | Wigy. o Al |
Buffon Mendle Charles Lamarck | Theory of natural selection was proposed by
, Darwin
& gl B ] o s ie £ 2GS LmE g Sty | 12
Community | Ecosystem | Biosphere | Population | A group ofthe organisms of same species -.*T'.l’"lkf

inhibiting a habitat at a particular time is called.
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. Part .I d,l o g[pr’/";)/é

Answer briefly any Five parts from the followings. 5x2=10 ..u'/ 4/’ ..,W/‘? [_l}'iétc.df e LLits 24 Jir

Give the effects of smoking on teeth. -z: Vi j S P e /uﬂ; 1
Differentiate the acute and chronic bronchitis. _é ¥ f JiA u" {7 s/,_fs/(ul.‘.bx,? Ai
What changes take place during exhalation? Write any two. -é&j —UL;!( ,b{!gjnijuu_b‘;i (ﬁ s ul.wé‘f‘:"ﬁ)g il
Write down any two causes of kidney stone formation. -’é/_, /’ .;yz:»Jf J ¢.d /"';J c.u" Jdv

' Differentiate the transpiration and guttation. L FO %,!Lﬁ PLVER
Define the terms hormone and endocrine gland. -éf:( - /‘7 J 9] J i:'.! A3l sy i
What are the causes of epilepsy? _ . "w(jﬂlr(uki:J J s, vl

What would be the effects on vision, if any type of cone is not working well? rﬁu.m.«l /!l// cf»’df u’“ ( K-.«Q (J ﬂJ[ J,f / viii
Answer briefly any Five parts from the followings. 5x2=10  -J./" 4;’,;4;/5’ Zizt ét:.é! e LLis 3

Write dif'ferenc between compact bone and spongy bone. “ £ JASY ,3‘f F sl :.'-—-.,J

What are slightly moveable joints. Give an example. ST N, S u:" /L.,L,; wi S
Write tv'vo disadvantage.s of vegetative propagation. uﬂ’a ‘/ ; P& s ;j&. 5 i
What is Semen? Write down its composition. | Y(Semen) o=~ iv

Define genetics. -u’ f i i u‘g‘f v
Write the names of such two nucleotides which make double db»t@ @/ ¥ l_?uﬂd rt&zif’ by i

hydrogen bond among each other. : @ -t

Define heterozygous genotype. =y Sy /7 & FEY i JU; A i
Why did mendel select pea plant for his experiments? Give I s d'..:géi ;»z‘,! =l /’ Q_ILJJ'&?’ viii
two features of this plant, O . 2 Uk

Answer briefly any Five parts from the fonowin@ sael0 Sy f ez Linbhe e pditn A4y
Vu’iu%;»d:b’[.di’fd_/ A
?.f_.ﬁ..,qrs’(f WS i
What are epidemics? ?u:anyfuyAng il
How we car, say “Reduce” is the need of hour as being Pakistani? Szt 20y “Ub 1 S p f e bt i nde] v,

Why wolf'is called as top carnivores?

How smog formation cause air pollut Kn&

Write down two uses of biotecﬁno[ogy in field of medicine. oy P e W In LG IE ALt SL( s v
Write down two objectives of genetic engineering. | ; _ -.,,_r)’ & /"' wend E, }.‘."} IJ‘:;",',? vi
Define Vaccine. -Q’/ & J cr.‘."'rs_ (viii) What are Sulpha Drugs? ?wJﬁgI}Ciul» vii
Part : 1 (' 4 |
Note: Attempt any Two Questions. ' 9x2=18 .Q‘f 4; a&fﬁﬁ.&ﬂlru:—(jﬁ..‘a}
Write a note on Osteoporosis. -u;’ Y /_j" .:.«:’4;]’ u.;’xt’ sl (.,.«) (a) Explain the structure of nephron.-/ Fa .:;-{D:J c.é‘(/(f Ui LS
Differentiate the mechanism of nervous‘and chemical 4 kLK /’[_uz: LTS Jéﬁ( /:lc;"; ST 16
coordination. Also draw a labelled diagram.’ _u( L-(fr (IfoJJ'J (f i /(
Explain the different parts of the plant that help in natural - 5§ u) ufgf :JJMU’J/ ok ezalosf Ur? ulrf.a..u’ -
-uj&./u e

vegetative propagation.

H

Write four achievements of genetic engineering. -U:,J LL‘JKJ‘:LJ k.‘f f ...C’::ff 1.7

What are antibiotics, How bacteria develop resistance 5 L aga?| fJUv'Lu’F 7 @L?"C) ﬂ.ﬁwg ol 5 I.-k?:" e

against ti:e antibiotics? . sl /S
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

S L HO )

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
ety sz J"JQ‘J' i L -L)jl'_ﬁlg,c,ubfu:‘y;ﬂ")u’k/fufufb |
?:gg:ﬂ?: !\gl;l;iig]ie : fo?rﬁ(;:ieon Budding Rhizopus reproduces asexually by
u‘?l):’.n‘ ......d]"'"' G u‘.'f"/ﬁd’;l.‘ -wz.Mz_ﬁgJ’,;w,z;_—ym 2
Homozygous Recessive Dominant Ic!fr(r)xri?glectz The alleles which are not expressed are called.
v 2o A ok el e Qs SRS | 3
B 2‘:;23?:’5 Bladder Pelvis Hilus Cup-shape structure in kidney is ca/llgm\
JJJ;"’ Jiz-’u':l J:’l/j _ﬁ;.bfdﬂj' I;,\f%k)ﬁ.ﬁub/f/b 4
Temporal Occipital Parietal Zlgfx?sa?acl)lia l:ir ain that r?\:ei \ e impulse from
/.5 L.)/" L—‘;..."':J)'(JJ b ’-_ T @%‘7‘; W'J/WK’ﬁéuxH -5
Liver Kidney HTart #ap Stom”ach 7 Thepq:po(g?% cageistoprotect.
ungs T b st a( ()
Y S | g T %b\/ Lalf DLl i | 6
Evolution dmﬁz;nce g]t;fci;ﬁ sillit;’;zln(((l’s laws are not implemented on
;/;,;"d; &g i )f iz ,O\Jf _+J¢J ..,—,;.‘/ Sleds | T
Decomposers Water Consumers (@@rs Which one is the example of Abiotic components.
sy J#t 5 LY tor e AN E AL oite | 8
Plants Environment Em@? Sun Source of energy material for all living organisms is
394 Y JIM 39545} -9!:'11{2.9&&;7%73/?1.;2”,’%}55{ 9
Mini food | Pormic Acid GMO F er;gzx(llted Zalll;l:c%r.otcm content produced by microorganisms is
/Sg sk AR Lbe s -MJ,?-LJKJQ'KJZ/..Q;;JEM .10
Pasteure Wilmut inssigf_l Fle n?m ing Who proposed the idea of sterile surgery?
Jrs S Vol [$ai? et ¥ | 11
Plumule (ﬁ’:/ %J . u"-/ A3 Cotyledons stay underground during.
i | s | pormary
i 2 Lf:ﬁl;c_uf bl e lfuc..{l _..:"_t‘ytoJL)b”Zc./:’dta)"KLféufl;u-f/)’ 12
O“!y Ll 3-4 23 1-2 Tooth loss is time higher in smoker than in
. non smoker.
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Parte . _____. o— Ul i —

Answer briefly any Five parts from the followings. 5x2=10 ./ Feyiz & Cizigre s, auﬁd:bu 241
Differentiate the acute and chronic bronchitis, fu/u" u" Iﬁ:/J /rJJ'u};.r A
‘-‘{_.t‘n/ltfﬂ,ﬁ’r’/,"’d/f/ Jdi
Hea§us Lk
vwéJJ'//C)JJ’W(;/JWLGU*UJJ’C-’U* bz v
S e\l FstunS
“Eaes o i
U 1 LI dab i
-é._p/’d’umg viii
Answer bricfly any Five parts from the followings.  5x2=10 .u/;,;’..uf,f”améga,éfr_..;:‘,mn 34U
Write functional difference between tendons and liga'mcnts. _éf =/ / J /’(}W Ku"" Gzt i
Write four symptoms of Rheumatoid Arthritis. -z, ;uw“u. SV Ty @
What is meant by pollination? Write its types. -c{ ¥ j ,'Pl =] /Lf:._u" d:’ Aii
Why reproduction is essential in living organisms. ?¢d» /‘ @f» Y N Ulile v

v—'//dl,/&f/"u’b/ v

'@:uf}"’dﬂlﬂfqulucbr‘! vi
Why Mendle selected Pea plant for his experiments? Write two reasons. < %:ﬁ:i lf/c_J_. Ll /4 el iy i

@ 7
%S &L F OIS S st 305 ik
Answer briefly any Five parts from the followings. 5x U 2P Lime § e tditn 440
Define biosphere and also write its thickness range. O ...é LF d" & J dEr‘Ju‘ luléf - Y J /-VrL A
"(ﬁ&.fdﬂ"’f d’fd/l/)’z/:’”/ Wi
e and why? tudsie bl L L e aud i
iffals? Write with meﬁ‘mru:w LS ST 7 v

V.= TP
?g"_C’(.n..—/l?fL"’JﬁJUULC{?4}:':/.’ v
Define a drug, -2-’5..4/‘."1}’_,6} v
Pt PULBSE p Lttt P i

What is the effect of smoking on circulatory system?
What are pleural membranes? Write their importance.

How do the halophytes hold large amount of salts in their cells?

Write four major causes of kidney stone formation.
What are effectors? Give an example.

How do the ears maintain the balance of our body?
Define hormone.

Writc the chemical composition of chromatin material,

What is the difference between homozygous and heterozygous genotype?

Write difference between natural selection and artificial selection.

How producers use solar energy?

Which of the biogeochemical cycle is called perfect
How pesticides and fertilizers cause discase
reference to water pollution,
How fermenter optimizes the growth of organisms?

Give uses of formic acid. 2%/ 7 e b1 2 Lo (G (vii)

In some cases why booster shots of vaccine are necessary?

Part I : (' 2
Note: Attempt any Two Questions. 9x%2=18 .q/ ¥4 .:,uzé..-:.mm.:_Jﬁ.:,}
S.a.  Describe the role of skin in homeostasis. | 4 AL S ™ s n .5
b, Whatis ajoint? Write the names of different joints and 5 LSS AIUZ‘.J rt Lu:' ,b'..iﬁ‘ -& Earlfws b -
explain moveable joints. Sl ol J U et
6.a.

Write a note on largest endocrine gland of human body.

b.  Whatis fertilization” Explain its both types.

gf'ﬂu:f/»‘ulf:ylf_./c..urﬁf)du .6
-J/...-?Lud/(l)luimfui"q_dnlfu)/Ilf,) —
AL Faoe L L7 e 7

cEn fl, e lam o

7.8.  Write the objectives of genetic engineering.

wm s L s

b.  Which problems may arise due to norcotics?

e %“/ 1040 - 1024 - 22000



| gg-pf/ -3
-Z:J,;?’:/J,:‘Jutgu;ju"'uf,__g/?,jfym:jm (ﬁ:.:.—fL?.)lOZB
tges) 2019-21102021-23¢7% [ 6

PAPER CODE 3463 A wssh (P Gk

;..{L;&f:; A cd}k/ztfaﬂ;.‘ib"&fﬂv Lolpernc f u;ibéz__..:é‘_lzl.dfr /,'/7(}_gg}lf-()}éé__JDJﬂCfBfAu‘bU.z.'—GJla Ly prad
4700 LUNL St PAPER CODE4# 424 W 1St M1 £ Q2K rird e il 3 o S 7 Sl 4 sl s

N e U S st st s B Sy ey 3700 e S F* S
Note:- You have four choices for each objective type ?uestion as A, B,Cand D. The choice, which you think; ¢et; fill that circlein
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles wil} N2 rk i
question. Write PAPER CODE, which is printed on this question

otherwise the student will be responsible for the situation. Use of ini

i R it %3:5231‘0 ¥
,on the both sides of the Answer Sheetaid fi fbubb’[
remover or white correcting fluid is not allowedi;

(D) (C) (B) (A) QUESTIONS
e yInY, 4 l Nl /_._.-.m_:,gLJTJ s31§at 1 ¢
Stem tubers | Rhizomes Corms Bulbs Dasheen and garlic plants reproduce by
- ks’ 4 Vel Y - Qi fir bt e B LALL | 2
Asthma Pneumonia | Amphysema | Bronchitis | .tiS@ form of ‘Allergy’ in which there is
inflammation of the bronchi occurs
U2 bk U by ol T} ?wdxdquztfu,,&/ 3
Mesophytes | Halophytes | Xerophytes | Hydrophytes | Which plants have deeper roots? O,
b &, - T o 5 - \ / >
Jisft Jﬁ'U/’ Jis J/ c:_dfdr’:al \J!SI,JJ"’:JVJ/;[ A4
Temporal Occipital Parietal Frontal This lobe of cereb;@lgo\ith@eceive impulses from skin
Ear ¥ Chest (U7 | Neck s Skulldzj/ on 1 \t’en)s found in -g.B(ng VAL |5
e M i G 4 L Gl /l(cﬁ
itk EAYe IRt VL d}&%fﬁaﬁ S~ Ui fE L | 6
Sedatives Marijuana Hallucinogens Narcotics fa\} g effects on the sympathetic nervous system
— B sing dilation of pupils
st 4 (= 115 U5 g/fdf é} b oS PHIHNIA | T
Gynoecium | Androecium Corolla (@a yX Male reproductive part of flower is called
(4 id C »
: u‘? 173 720 ‘,r? iy s v )’!‘mﬂ@ \f,’rn P 4 ‘Sl | 8
Non- ¢ 3
Heterozygous | Homozygous homolc)go} Homologous | The word true breeding means
Charles Darwin S_f/_f - )’ 1 LZ'J'JIJ_LftLu;AJ‘uJ e 9
1845 1841 1838 1836 : . —_ T
- proposed the mechanism of organic evolution in
u’);rdf /;y"/d/t/__, /[/"/ VE LA §_l;'yu_l,-':Ju:‘-35i 10
i The b ffood chain i
Decomposer Briimes Consumer Producer ¢ base otfood chain s
consumer
‘ Lﬁfu’(ﬂ’UYLLB?'BA,GJ)U;MU:J/}’J:‘LL) i1t
CniBUsn r}:‘u"f r)fxf (A - = 1 = J‘
BothBandC | commensalis | Mutualism | Parasitism | Inthis symbiotic interaction, e
both partners get benefits and neither is harmed
P, o rde 538 £ S Se ks Ansod | 12
Urokinase Thymosin Interferons Insulin Which one is anti-virus protein?

1041-1023-36000 (2)
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Part I

Answer briefly any Five parts from the followings.
Write foursymptoms of Emphysema?
Define Osmoregulation??u_‘/ - /." J ‘f:’ e 51(iii)
How sound is produced in Voice Box?
What are gangliones? ?gﬂlng'/'ﬂuﬁ; (vi)
What is the length of spinal card? Write its function?

3x2=10

Define coordinator and give its example?
Answer briefly any Five parts from the followings. 5%2=10

What i .
atis meant by origin?<_»/ o't = cfus (i)
Define reproduction and write names of its two types?

What is the difference between corms and bulbs?

What is mutation? and when does it takes place?

What is meant by dihybrid cross. S<_»! ey 1o QJG (vii)
Define theory of special creation.

g! Jus

—

- "
(25 4

Answer briefly any Five parts from the followings.

1042 -~ 1023 -

Define biosphere. A - Ny -z’ (i) Diffe né@mtwcen populati
@\ §b )

S on ecos lance.

Write examples of human impact
What are interferons? T&! ,'gaig?@\\w
; 2 05¥un LA Gid)

Write advantage of leaves of foxglove.-

Write difference between prescription and non prescription medicines.

-21102021-23 ¥ 0l LA (Frzslz) 1023
& 1:45 15

,,(:5:) I
d" ‘; B SG&’/"D/\?

LI F sz £17;$L¢,ch_u:¢,bu 24Uy
\op el dp Sl gl
What are Pleural membranes? 9 /% 4 Ju'g'- ii

?c_érly c’./JbTu""/-( S v

What is meant by Dialysis? Tl U 25y
-J///J’(/l('r_u{du&/b’wb Vi
“u’;dmf intg S s P 30 i

Al 1f M2 Laiie S dits 3201y
Define skeleton. -é_g Yot g‘.’.g’ i

-J.’Urté(u!:)d/dlulg[/_.:ﬂ/.’.{fj()‘sﬁ/
‘:c‘:_J/;&fo:/LJ}‘]J:(
?édx..f,:uic‘_.l:fu#f R

Define Co*&b@nce _J/J/."Ju}fu‘—f

JAii

vi

.viii

. @
é—l‘%’ .u///..u;f"z:méL:,J/:_.uﬁJ:LJ;.4/Jtr

jon and community. JU/JJ)IAIU’J:’L

I peSeisdo i LR

What is deforestation? $<f /tfc_o;u.a_mg ygd g3 AV

Write down advantages of fermented food. A L Supinp i
-JU/JUL»I&;:"/MGB/ .viii

-

Part- II (22
Note: Attempt any Two Questions. 9x2=18 u’/ L ..,wz....mr»;,é:‘_».i
What is kidney failure? and how it can be treated by kidney transplant P 2N = PRSIV cm’m”wc_Mbn{ufu/ .5
Describe the main components of the axial and appendicular skeleton of human. _éc;gfuf"_/,ﬁﬂ),fyu,s JC;LUM -
Describe the structure of neuron. 4 iful.«.;’bd/ oy 1.6
Draw a Labelled diagram of flower and explain its different parts 5 ol LS JJ Sure ¥ Cin St L-f JUg =
4 &gxﬂnf}’{dﬂ/’;b;—wlu’/d/"(ﬁﬁuwf’ 1.7
5

Define single cell protein and write its procedure of prepare it.

Write a note on Antibiotic resistance.

éui/Jl/ui_JUVLJ(fLJI -
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NVISETR

/ Jas _éﬁ" 5/ J / dut’;l,;.gf; u:,g/; L1 2By (ﬂ::«-ﬂz) 1023

T2 et 2019-21102021-23F  MelfitE
PAPER CODE 3466 2AS s (P)E

L e JL i 3o Loz ne fnmd e sed Jir ﬂ/;(ég(éb?-wéé—)DJ)fC‘B‘Ah’/L’JZ;AFJtLdU’ s
et L1 LSt PAPER CODEws 4 2 i U1t AUIn L Q6 2Kt s 20, s st S ST LT3 s ol
ug_(/)"’db':’l%’b:gQ/Lzzﬁzuﬂggfﬁéfk.j‘bdzﬁ.Jjlnrb?J:aJ:’J&krb{/

Note*~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordin gly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (€) (B) (A) QUESTIONS Q-1
du Ui 7 Wt *e QLA ShS e T e |
Thigh Foot Hand Arm The longest bone of our body is found in.
- 5 &
oL 4 K Vi e —e K |2
Pollen grain Carpel Anther Stamens The unit of Androecium is:-
3000 3500 4500 4000 _ AL LS ENT | 3
Total chemicals in mtgb/ab}q smoke are.
= { / ’
Pelvis U's% | Nephrone& | Neuron g | Axon ot | Functional un(i’@?}édn% is— -g_dﬁd/ ¢ ¥lesS| 4
50cm 45 cm 40cm 30 cm The @pinal cordist - _g.(jl_,l(f 58 Ll s
. - ; T %
W) L — 75 ~eflkidst | .6
v A AR RN TG
bi ~Polly is a name o
Bull Cow Sheop Rh @ ! S fepins ol | T
=fT LS st & e
o panadel A& hine | Which medicine is cardiotonic’ ,
Digitalis ?‘azelj‘m s —F . e Fote2fLiM) 8
e Lt . E ‘ )
(37 J 1 b e | me@"mch part of embryo shoot is foimed‘?
Endosperm Plumule ~;._-% g _%J,«___;L‘:'-i‘-’JJL“B ?,f‘u, 9
ii 1417 The person with blood group B have genotype.
The g 2 Gr L2 1 ST | 10
9:3:3:1 FE 33di - phenotypic ratio in the law of Independent assortment is:
: . G5! ,u‘!gfjwfL:«LEUU“VJ)LJ?‘.LUU"U””C‘? 11
S ol oLk - Study of relationship between living organisms and
Histology Physiology Biology Ergiogy their environment is called. — T 7
e P | 12
S F Js A5 i g
Algal Fungal Viral Bacterial | Dengue fever is a infection 0
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Part -1 sl

Answer bricfly any Five parts from the followings.  $x2=10  f/z7=biz ervégc_éf.—_.,;:‘_t,z-,» 240y
Write difference between Stomata and lenticels. -uf’g I/ x t}"a sl i
Write symptoms of Asthma.-uﬁ’g ik Sy Gid) Define alveoli? $J./¥ Y i J Ugdl i
Write the names of parts of urinary system of Human. -u.‘.”g rt Lyus” er_./ Sl v
Write components of glomerular filtrate. _ufd Ky P /‘J’ g /,f R
What is the function of medulla oblongata? e {r1 uﬂ;m,,y vi
How ear maintains the balance of body? ‘790{4(" G'd: u)l;K,‘)' of il
Write the functions of parathormone hormone. - (b/ L= umwwﬁ g . viii

Answer briefly any Five parts from the followings. 5%2=10 ..u_‘f /_/’ AR /f" Yl { ég a-J:( LSt -3 / Jir
Why is skletal system necessary for human body ?f__dn /ur‘.., 2 é:() &Ufﬁ"/ Y

What is pollination?f<_»! /Lfc_.u?" Sy Gid) Define hinge joints. 2, -/ /7 & u:' /u?(‘;'f i
Write difference between hilum and micropyle. S Lty v
What is transcription? . % Tl g c.;f' P I
Write down definition of continuous variations and give two examples. \/ «JJ Gyl /.’. J | /7 J’V vi
Write contributions of Charles Darwin for evolution. O -d(.” led Laga J s ._/ Jb it
Differentiate between breeds and cultivars. | Q %%i\ 2] JAL ubu'K sliks Vi

Answer briefly any Five parts from the followings. Sﬁil&{@ -J/ j =iz /" Ll?fél..:.éf Py < J 3y AR dlr
Write down two effects of acid rain? -u.‘."d ...al/lucCJJLdf Z d

How we can minimize effects of air pollution?y @ vwéff,f_,;/gé‘f),u dlﬂéfd'ﬂ"l(uﬂyfu’LﬂJiLfé
<

environment friendly fuels?
GBS

Define deforestration?

Differentiate between intra-speeif inter-specific interactions? -u‘/r BN N e TN = R
What do yowknow about alco ; ¢ fermentation. "u!c.,lpoul e :_,JLLwa /’ﬂ v
Write applications of fermentation in dairy products. u.,ﬂ Yl 4: u*uf:! 1545 vi
What is difference between antigens and antibodies‘?‘-’q..J/;_lfuf '/,_J‘Qg}’:'lul ~ (_;':'t (viii) Whatare tetraCyclmes??wg'f:.ﬁ Lig i
Part I (2 -4
Note: Attempt any Two Questions. 9x2=18 ..q’f 4)’ .-,gmL,.-,mmc.J/:.:,}
Differentiate between xerophytes and halophytes. (A04) -Ef_:r J u’? Gske sl u*.'-’, brzs A5
What is arthritis? Describe its three types. (A 2014141 -g{ug(ulJJJs?+yfu"n},T e
Where is Thyroid gland present? Write the (#04) L nl ol ?wLﬂ(‘jbubf ﬁ.:{i'bdl; .6
('J/ul/./l(;}//[,

importance of hormones secreted by it.
Describe the structure of seed with the help of labelled diagram. (/05) -J/ubcu J(l/qi;JJVPVJC -

What is the scope of Biotechnology in the field of (Fo4) ._",FK&)L.?fgufg_‘:LqulJ,i%ﬂg 1.7
Medicine , Food and Agriculture? fetf
Describe the sources of Drugs in detail? (A0s) W A t,.‘;.dz"’*" (‘EIJJZ.J_// S bl o
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Note:- You have four choices for cach objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
guestion. Write PAPER CODE, which is printed on this question puper, on the both sides of the Answer Sheet and fill bubbles

accordingly,
otherwise the student will berespoasible for the situation. Use ol ink remover or white correcting fluid is not allowed
LBy G By (A | QUESTIONS Q-1
Ay : . 4 s " % - J - ot
S o 2 Isk ikl Whichof  SUrGa et zub LonlunsT 567 |

Hashish Narcotics | Hallucinogens | Sedatives | these addictive drugs arc also used as painkiller?

y-c (F—N (_)ﬁ—\’ L}’/ﬁ"U \‘u_YZ_ﬁZ.J/“J(L./!@‘:‘Jb’ui’A{UJQI} )

C~Shaped N-Shaped V-Shaped U=Shaped | The cartilaginous rings in the wall of trachea are
ricw? | ot | ean S | b St Se bWy | 3
Ve sl od sle bod_ £ 4k ) What is the function of the urcter?
Toremove To carry To carry urine P i
waste from | urinc outol | from the Kidney ,
the blood the body 1o the bladder urme
s G FL K Lol | 4
30 cm 40 cm 50 ¢m 60 ¢cm . \ . b
How much spinal infiuman is roughly long?
(oA o u:ff&.»l Usir 7 <>LQ) -t'mﬁ".»(q/,‘gf’y: 5
Cercbrum Cercbellum Mcdulla Pons This js, ﬁurt of the hindbrain.

. Oblonpata AN\ 2 </ k
oY S . A &k
f'l/c)L/U{l JJ'(JJ‘{ b ubd’g‘ A S pa _-T’..(bbu T [ €1

iVLJ’cI‘_J/" JLJ)}‘J""

- Protect the Proteel l@ Ee purpose of vib cape is (o
S » f"",‘ P .

U L bl spinal cord g

Provide an

sto@
object to Protect the @O

which the heart and

Jlunps can
attach lungs PN

u.:/”.,JBJ{ ohstialy )b @?}f £ -w..f_&)‘;};:ﬁc_f&ffdzuﬂft!&ﬁ q

Spore Fragmentat | Parthenogenesis | Budding | The development of drones in honcybece is by the
formation ion _process of
S Irn uéuo‘f u—é Ly u{i Uspr | ARSI R B 5 e (e (| 8

Homologous | Hemizygous Homozygous Helerozygous | /AN organism has two diflerent alleles fo"?‘chf:‘fg’r

a single trait. Its genotype is said to be:

Ll Fie o rde o S S thin AL LI S Fibuf eS| 9

Thymine Ussoll Cylosine Adenine | Which nitrogenous basc form pai: with guanine in
DNA?
J! “lu/b(—-af_:'/t—-&/‘r\y’(—j}rj P—JLJ’,:“_U:‘”.{’».{! .10
4 3 2 ] In the food chain ?uju?:‘}/h;rd}.':‘fuf

" . ~ »n
grass = rabbit = fox = bear = mushroom”,

how many types of decomposers are present?
- St it e 3 b aTodnd S5
21 19 17 15 "Ml rednd e L Lalbadnl by 0| )
How many tregs can be saved by reeyeling ofone
Lonne ornyapcrs? Y ) &
J& < -d‘fg/ N e Tms 2% i i@
1l e e Ve —e bttt AN 12
Plastics Beverages Cosmetics Vinegar Acrylic acid is uscd in the production of

1029-1021ALP-45000 ( 2)
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Answer bricfly any Five parts from the followings.
S SEREE G

Ftow puttation differ from dew? '\'.;‘;;Jru"’ﬁ,-/’u/..:_ (;‘V(f:'

Define lenticles.

Define transpiration,

Write various typcs of coordination.

Define stimulus and give one example.

What is the difference between a nerve and ganglion?
Answer briefly any Five parts from the followings.

Write the role of skelctal system.

Diffcrcntiate between compact bone and spongy bone.

Define fertilization. Write the names of its types.

Define sced dormancy.

Write two major components of chromatin.

Differentiate between dominant allele and recessive allele.

Define mendel’s law of independent assortment.

Define Homologous chromosomes.

Answer bricfly uny Five parts from the followings.
Define population.
Write the name ol two tertiary Carnivores.,
Define food chain.
Differentiate between Ectoparasite and End SItE.
Define Fermenlation,
Wrile the use of Enzyme urokinase,
What arc antibiotics?
Deline Vaccination.

Part 10
Note: Attempt any Two Questions.

Writc in detail the steps of urine formation in Kidney.
What is a joint? Write in detail the types ol Joints.
Explain the types of feed back mechanisms.

What you know about AIDS? Explain.

Explain Drug addication and associated problems in detail.

Describe Basic steps in genetic Engincering in detail.

jl( iv)

O@@

5640-6)2]|

/d,/;:ri47?44:y‘j|:_£5)i;

2N Al AL (e 2) 1021

55145 1y

(NG
1 SO 2
5x2=10
What is the function of stomata? ?z.l.__lfJ’ Fle
Sk A

S Rl

Define inspiration,

o 4 U(UIJJ:? J t}—' 30

_LJ;:JJ@V_Q/,JL):/Q’/‘?JUJJ“"
i‘cl:,(_'}/"‘l;fuiuﬂ L sl
5%x2=10

.-’Z"‘,(/“/NJ,)A/("/J%"&

E L FOp St s wneld

,agrtdirljlf@ﬂ_y}Jﬁ;ud/‘
Ry RAPTALC

L Faafin LS

- “J)U:l)!’f-’-"“‘u:id-f‘l..‘.;ﬁ,}
*@Q}JJ/V’&%UMJT;llédﬁf
-C-: “/&.J/"r’f:/kf"y'y

-JIJ/JJ-A
ki rt[.;md,w P
S P
_U?GJ/'JS R PN l/f/r(
Su ST
-J"G Ju18 5 A1)
S U AL
-LJ:/Q.’/JJ(M‘_'_ 7]
-

e

r;:

9%x2=18
-ELJ\J’";L{JJVA:Z.V@JZ_J;
AU s e Y etin
-L,jfyu,JruiJ('/@u_Cg
Sl S L Tt e A L AIDS
Sl L s st el
RSSO Y (PRI

o C_.
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_L//j._,uf/"[_m&L:_J/&.uﬁ‘_hz,u _Z/JU’

()
Gib)
(v)
(vi)
(vii)
(viii)

S Fehn P Linble et dstn 34 dir

(i
Gi)
Gii)
(iv)
(v)
(vi)
(vii)
(viiD)

~iju§lf/‘!£!]lgtc:,(jfc_LJ:JJLJJ _A/Jlr

(i)
(ii)
(i)
(iv)
(v)
(vi)
(vii)
(viii)

-J"//_/’cal;lit Ltz c..(jf:..w’

(@) 5
)]
(a) 6
(b)
(a) 7
(b
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Note:- You have four choices for cach objective type question as A, B, C und D, The choice, which you think, is correct; fill that circle in
front of that quecstion number. Use marker or pen to fill the circles. Cutting or fifling two or more circles will result in zero mark in that
nestion. Write PAPER CODE, which is printed on thix quostion puper, on the both sides afthe Answer Sheet and fill bubbles accordingly,
otherwise the student witl be responsible for the situation. Use of ink remover or white correcting Huid is not allowed

(D) (C}_ (B) (A) QUESTIONS Q-1
s o K A b SR B RT |
Pandweb | Gene |  Allele | Bewsystem ) Infevoonnsoted food ehatns vollestivelymake, = | ..
1974 1964 1954 1944 Sals b Ea U] 2
e ol v g v scsmn e PP DAY RS ks PR O pRTLG SOGRENIRE |,
o Uy ludgt' S eyl -.:l;.a_;:«J/JrJL;,b/o{ﬁ"‘i o3
o/ n /S Synihelic oS Aspirin is characterized as |
Drug from Drug from drug A drug [rom
——— plants animals
S U 0 | 4
5 4 3 2
How many types of/bn&@,@«rc?
/’:f Ss9 g ke LA /gf 7 @ ~UJ-T—-/Z'/JGZ'§’J:’£¢-)§ 5
Conifer Lady finger | Rubber Plant Keekar Mucil:@c@ﬁé&%d by plants,
L)/:;f’: (jh” u‘fT J»'%/ 7 \Qi.\t{j;;/,’mzrl:,fdﬂ::abl”d/!‘.,ﬂvuf .6
Temporal Occipetal Parictal Frontal /: 1 lobe receive and analyze visual
J[\af6>nforination?
@ Lf//’ 3/ %ﬁ{ \:“%}L'Mféuaby)f/J/,jLJ:J/ch‘_:f{ N/
Seed Frontal Nerve (@Hon CcA,lTiwdT.is of many neurons form a group called.
4 3 @W N s Shor | 8
. HoWemany layers bone has?
SIS Jik vy g bl g | 9
Fertilization Plumule Radicle PollinatigiiZ - Fusion of egg and sperm is called.
j,‘g o185 c/:‘ﬁ/? u%j};ggj( _UJLﬂJP/_‘_ ~ 1 .10
Lipids DNA Protein Carbohydrates | Genes consists of v
s iR AT v s Lol et 0 | 11
v 4 3 2 How many hydrogen bond form between cytosine
and puanine’?
di 19 dL (st ?;.;);dejufc,u.‘.uf A2
Fungi Animal Watcr Air Which of the following is a decomposer?

1031-1021ALP-35000 (4)
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 Answer bricfly any Five parts from the followings. ~ 5x2=10 Sz Lz 3 e tditn 24Uy
‘;Nlmt is meant by nasal cavity? ?;_;l/y’c_&;ﬂj,;:‘ ®
iNhat is function of pharynx in respiration? ‘-'ez.zi:/,l;r?f/fufu;f Gi)
How the breathing rate is controlled by brain? ?q_t/J;/"rfJGJJJﬂJfC/"J"[‘,L) (iii)
What is Urinc? ?.g_lf..'.,% €D Define Transpiration. _E'i;..é}/‘.'.Ju%'flTJJ/‘ (iv)
Differentiate between receptors and cffectors. ,Z_{J/‘ufj/‘}.;-'mlj}.;:f, (vi)
Write down the functions ofncuron?a’éjf/uftf" K1y (viii) DcﬁncrNcwc._’f-’-,uE{/.’TJ:/' (vii)

Answer briefly any Five parts from the followings. 5%x2=10
Differentiate between cartilage and bone.

What are Osteocyles?

Deline reproduction.

What is meant by alternation of gencrations.

What is meant by chromatin? S‘.;_.)t/gf&:wc}l.:f (vid

What are traits? Give an cx;unplci:._f:)df'/ugl?ufggf‘:/‘(Viii)
Answer bricfly any Five parts from the followings. 5%x2=10
What are decomposers? ?uﬂ_{rj/):;rd} G
How Denguc fever transmit?

Define commensalism.

Define Biotechnology.

Write the use of Restriction endonucleases enzyme,

Note: Attempt any Two Questions. 9x2=13
Define and explain structure of nephron.

Define Joints. Write a note on its types.

Write a note on thyroid gland in human body.

Explain, how the epigeal and hypogeal germinations are
different from cach other?

What do you know about Antibiotic Resistance? Explain.

Describe the Applications of Fermentation in Fermented Foods

What is mcant by truc 17?'3';‘-_.11_/&-‘/.:-_. Fhrst
..u_’//,_]’:«&i@ét'.lw%céi’c_bﬂg)_'_}bn uA/.jde’

SRz B Linge S et it 3 AUy

SEO)LSIATEE WD

U [l W= B (1))

ey g GiD

Vool p W AASTSEPT G)

Deline Genelics. ..éfz'i.é!/"’.d/u'{:;? )

(vii)

5 %&?/\@cﬁnc species S . /if )
N | b (e ks Gl
g Ss e Ee S G

JSw EEg s W)
_L/:”Udviﬂb”m;;gﬂj,jauy poo i)

S S i nS ey Gid)
S FEG 2 i)

-q//j.:,glf. Ll 4:.,(1:(2&}

S ertme JF s Sy S oy @
_u:“5¢,}4rt»"ff LishJ S i /U’J’jm b)
_.f;"f_',i/?i’:b’}fudtiLl,é,@é_._t‘_u:,frdw @ -6
LA S d S g e
Stilf ee
Vo TUteALadlpad B Lo Ad @ o7
el b
Lo astians ST ®
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Note:- You have four choices for each objective type question as A, 8, C and D. The choice which you think is carrect;
fill that circle in front of that question number. Use marker or pen to fili the circles. Cutting or filling two or more circies

will result in zero mark in that question,

Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student wili be responsible for the situation.
Use of ink remover or white correcting fluid is not aliowed

Q-1

(D) {C) (B) (A) QUESTIONS
5 Ler L5 O - U |
Algae Funaria Bacteria Mushroom | Psilocin is obtained from
*',’"’ J;J';/ u’f,: = g}/i*pﬁ'd';l{?;}fxc_ u,zﬂ-oﬁvﬁ' 2
Diaphragm | Bronchiole B"Q_flcm-!g”ffj: ; Which structure actively helps in taking the
A A air out of lungs?
; S A :%
N — o *;g As S LS esnd Rl K| 3
Mucilage Latex Gums Resins Waste materjs are removed by
conifero
gy o uféuil J:U(ékﬂ ek u(&:/g n i AR 'l’)(;( 4
Upper Ear Inner Ear Middle Ear External Ear> &h ea is present in
Lsd 2o 5;‘// SISH ~e Petb i 2L ETrv] 6
Fovea Ligment Sclera @ Rhodopsin is present in a part of eye.
st Eis L Q¥ Js i S RPAN
Lungs Brain Heart Vertebral Column protects.
ek el Jh <® ‘,'/;:( P - &% p"‘"/ﬁ”g:./.:u,@ il 7
Stem tuber Rhizomes Corms Bulbs Reproduction occur in Ginger by
Fag st f153 | Prg matfuT| it Py e trb RS | 8
DNA and RNA and DNA Protein Chromatin material is made of
protein protein
&;fl‘:'t’. 1 A b -8 31»@‘; Kidating 9
Phenotype Genotype Alleles Genes Units of inheritance is called
b S A7 e L IEE el 10
Habitate Community Biosphere Population | All Ecosystem of the world togather form the
L7 i P v ce Jed U a1
Louse Leech Mosquito Piasmodium |Example of Endoparasite is
2008 2006 2002 2004 Compiete map of ng‘jltf..ﬁﬁub‘lb’,'ii‘-’ ;}ui 12
human genome was pubiished in
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Answer briefly any Five parts from the followings:-

Define passive smoking.

Which bacterium is responsible for infection of Pneumonia.

Define Lung cancer.

What are the causes of kidney stone.

What is the average age of a donated kidney.
Differentiate sensory and motor neuron.
Write two main functions of spinal cord.

Define reflex arc.
Answer briefly any Five parts from the followings:-

Which is longest borie in our body?
What is Osteoporosis? Write its causes.
What are Endospores?

Differenciate between External and !nternal Fertilization.
State Mendel's Law of Segregation.

What do you mean by dominent and recessive alleies?
What is Punnett square?

Define co-dominance. Give an example.

5x2=10 - S2fak2 PLiz By e M ifditn -2
LSS e )

—e Seed¥ -J?f S S )

A PE AL s (i)

et §$A e (v

e ;L»: ,_;S’;f b Jc....:/fé'f Lo (V)

RGP I $E (i)
u"‘Uw‘_/»a_ya’J’l, (vii)

(viii)

/...‘v/"d.,;:u"’p

5x2=10 -J_/{)’:..QLQ/BZIZI é& ederdits -3
e Stz e wrdFeia (i)
-E?a;i’;fu’?g-gf;/.gz:’s' (i)

0t s W umea et (i)

@ OIS FA PSP S (iv)
@ -C{Jmf‘{ ST (v)
S o A et w25 (V)
e T K (vil)

& Je Lt i E S i

Answer briefiy any Five parts frcm the foll@gs:- 5x2=10 _q&fa;fzﬂérzt ég & Jf:_ 7 J_’} Lo -4

©

Define Decomposers and write their impo)

What is competition? Which are its
Write the relationship between fish and shark.
What is meant by "The R3"?
What for GMO is abreviated?
Write Dairy products by fermentaticn.
Wirite difference between Antiseptics and Antibiotics.
Write name of any two narcotics.

Part I

Note: Attempt any two questions.

(a) Explain homeostasis in piants.

(b) Discuss various components of coordinated action.
(a) Describe different types of bone joints in human.

{(b) Describe spermatogenesis and cogenesis in animals.
(a) Describe the basic steps in genetic engineering.

() Discuss the Drug Addiction and Associated probiems.

_& oS ’f"_.:f/U),J,ff; (i)
AU S VAL @)
2k FEK ST (i)

‘e srife."The R3" (iv)

te. SFE T GMO (v)

E o iysse D W)
OIS SEF (il
e L e 3 i

e t
9x2=18 -«.[&fa,wéuum,c_ 47 s
A4 Gl U LU -5
45 e San L SL 0T ()
A4 Ll Cusin Zugh st O)-6

5 -E Yk T e L unde (L)

A4 o L £ e Ot
/:} 5 -é =5 £ U.;Lf‘ i SR u/c:w'lf:-'* (-—v)
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Note:- You have four choices for each abjective type question as A, B, C and D. The choice which you think is correct;

fill that circle in front of

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student

Use of ink remover or white correcting fluid is not allowed

that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

both

will be responsible for the situation.

(D) (C) (B) (A) QUESTIONS Q-1
< JLs’ J‘-‘*{J U e C%na;;,ﬁé fﬂ"'} AH] 1
Yeast Fungi Aspergillus Virus Alcoholic Fermentation is carried out by
10 cm 12 cm 14 cm 16 cm - Ol FOS St S E | 2
Length of Human Trachea (Windpipe) is about
/‘/ 3. - *
& o= Sy o SE AN Pl | 3
X . Wast materials that are secreted by
Mucilage Latex Resins Gums Coniferous Trees. are
Sk Vg7 v vk LS L ETd0| 4
Aqueous Vitreous
H(Lmour HumottJJr Rhodopsin  |A Pég@e esent in Rods of Human Eye.
Ll i ~ p;’ c&\) Zlbit g,/ﬁ".)slmfj/u':..&u’i”_ffééf 5
- which part of Human eye cones and rods
Blind spot Lens Fogqﬁb are not found.
S - . 2 aples L s
300 256 The number < sl Supd of A UIEL | 6
. O(; of Bones in adult Human Skeleton are
P _1':;‘ & : j:& _‘L.E)c{),},@(u%{ ‘.‘."(j"; 7
Bulbs Clonind §~ Budding | The latest Method of Vegetative propagation is
éuj 1"-. A b.* ...a."b,’ .',f
§9:3:2:1 9:3:1:1 9:3:3:1 ."T—H'?’L’»Vi.mr'“"";"*"”l -
The ratio of phenotype in Law of
Independent Assortment is
'UF;"'L{_“ V/};(}t ,'/y‘}’;/uf:u,;:‘: f!‘f},};}f‘;.!’.:._j‘ - l_v:(,.z‘ qu:zl/..)..; 9
o oL L e s g
g’( ima Mitosis o= U'I“'“C;" ruadie Variations are caused by
5 | Different Same
G combinations of | combinaticns of
Reproduction chromosomes in | chromosomes in
gametes gametes
37 57 17 - - ég&l{ wine b ,bfjb/o/l_,:J_:(};b’u;s.J_? 10
In recycling of one Tonne of paper How
many trees can save.
(BSTEMN S2I L o ayk
1827 1927 1826 /1926 WL CIATHEL Sy otihi] 14
When Charles Elton developed the concept
of ecological Pyramids.
o M u:|r" c,-"'-;,*L & Whichone - :}b p(;)‘bc:;. Uyl LF';C;. g 12
iCephalosporin insuline Morphine Aspirin of the following drug is obtained frar~ slants
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Part el | Ut - -

Answer briefly any Five parts from the followings:- 5x2=10 -Q/Qf:.»&!z/:?ﬁ IZ! &; c..ch.u.'Q’i Ln _2
What is meant by cellular respiration. e Ve oF e ()
Give difference between glottis and epigiottis. LSS J"if Wil ol ujnf (i)
What is emphysema? e e S5 (i)
Define homeostasis. Give its one example. EsJedLingE S oen (iv)
What is lithotripsy? fe Vit (v)
Differentiate sensory nerve & motor nerve. SEE G IS (i)

What is meant by endocrine system? Sc st/ e A/ k1 (vili)  What is colour blindness? e iy S K i)
Answer briefly any Five parts from the followings:- 5x2=10 _q}}/’..-.,uz /‘?lel ég :..ch..uﬁ;ti L -3

What are Immoveable (Fixed) joints? Give an example. LB SN Sonts (i)

Define Pollen tube. ,u:f ..,éf/sg}/..,lﬁ u’; (iii) Define antagonism. ..ujf i /U(?f Gt (i)
What is hypogeal germination? e Ve S Jt‘, (iv)
Differentiate between Homozygous genotype and -u:’ﬁd}uf < L‘@Qf}; 1ol Ut Jg?)rx (v}
Heterozygous genotype.

Define Mendel's Law of Segregation. O -J/ - /’J f‘f /fi__, T Jier {vi)
Differentiate between Natural selection and Attificial selection. &ﬁ\ J‘Ju/'u’ §t> el 3 dw (vii)

=10 _q)}f.-,p,z,ﬂﬁazl &4 ctjfc—cﬁdjlw -4
Ldedin g S ASAE )
Ll Ssen L a2y iy

ety L S ade (il
Lo sy (iv)

What is dominant allele? How is it represented? fe th (, b z_" »le l/ el a3 (viii)
Answer briefly any Five parts from the followings: =

Define Ecosystem, give one example.

<&
Write the name of major decomposers of bi ;
Define Endoparasites, give one examp

What are producers give one exa

Write two uses of Giycerol. w"gub“! nlJ /f (vi} Define biotechnology.-v_rf ._;J/U SALLEL (v)
Define synthetic drugs. Give one example. -2 J&..Quluf‘q.a;) /“'.u(c:.«_l,»l(ﬁt‘ {vii)
What is difference between bactricidat and bacteriostatic antibiotics. -« J/ Y2 %L G ey 20 KU S A5 (i)
Part 11 el 2

Note: Attempt any two questions. 9%x2=18 -q/‘}f.;.p,u: = rna Jf -2
{a) Explain the structure of nephron. ﬁ;4 it /(g;.’_l:: .;,3-1,0( ULy 3 0.5
(b) Discuss in detail various parts of forebrain. /,}5 -gj/ =l s ¥ L L4 29 ()
{(a) Explain Arthritis and its types. Aa Sl L Suriss ST 0.6
(b) Define Pollination and explain its two types with examples. 5 Sl e iesis (L SUinlys/ fofuﬁfd,;‘ (&)
(a) Write any four achievements of Genetic Engineering. / 4 -af:f Z f“u;L?"_g /Kzl;:._ fzf.fl ..f}"' Lz 07

(b) Define medicinal drugs. Write a note on the principle /‘ 5 {dl.-}ldr'lé agmb‘?;‘? .'-“f - 7’;, =l ;ff ()

usage of important medicinai drugs. -2z ./f..w
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
i ARy | Ao iz Y e tr i1ty L7 G| 1
Vector Endonuclease Ligase Donor In genetic engineering plasmid is used as
AA d‘-’/" oA ! - Sises/ S o Uyl 2
Morphine Insuline Thymosin Interferon | Medicine derived from plant is
4000 3000 2000 1000 # @ﬁ Lol unLlSF| 3
Total chem‘gg@i ‘fobacco smoke are
. B oA
Jiest Jo s ¥ Y Jesd Crept¥ltonl thSmnnies) | 4
Renal Tubule | Nephron Urethra Ureter [ e of tube between kidney and
_; ( CJgrinary bladder is
p PN Joud! 4 -t Kﬁ:‘:ﬁrééﬂu: S dut| 5
Liver Thyroid Adrenal @crease Name of gland beneath the la jpfluman neck is
74 £ s b e W FLr L LuiT| 6
Cornea Sclera 3 i Retina The round hole in the centre of Iris is called
Wk ] N LA k¥ e t6 UL 7
Neuron Osteocyte Oocyte Chondrocyte |Name of the mature bone cell is
u’-’";c'rpkl Frx oy S e JeF AL 8
Endosperm Sperm Cell Zygote Egg Cell An example of diploid cell is.
nucleus
I o7 Sl S e Jedu S| o
Potato Garlic Ginger Tulip Example of stem tuber is
aut Ji rr:’,f g1 -uféffu?/r’d:?Juﬁ‘-’«ﬁ-ﬁ 10
Gamete Allele Chromosome DNA Alternative forms of a gene are called
2 Sz # e s IudsiSetn| 11
Genes Genotype Alleles Phenotype | Units of inheritance is called
Ve F JF G e S KGAE I 12
Nutrients Electricity Fire Sun Basic source of energy for ail ecosystems is
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Part 1 Jil - e
Answer briefly any Five parts from the followings:- 5x2=10 -Q&i@&‘ﬁ/yﬁlm &5 c:.(!fc_.u‘."lj Lo 2
How will you differentiate between stoma and a lenticel. -uj/ Uk ISR J%,IL#..Q (i)
What is meant by passive smoking. &y l[.::.. ..5/:’::8 (ii)
Write any four symptoms of Asthma. -uf’iathg 5] '3/ J,u (iii)
Define Hydrophytes and give one example. e s ISy (iv)
Define Excretion. sy tﬁ/d I (v)
Define Receptors and Give At least two examples. -2 .,_/‘-JL“»» ,fﬂ H:ﬂ &y P8t (i)
Write the two functions of Mid Brain. A Sedsitnl o 44 (vii)
Define positive Feedback and give Example. AL o‘dbnf Z: .—y/""J L :g;,;g (wviii)
Answer briefly any Five parts from the followings:- 5x2=10 -Q/(]’.:le;’z. IZ1 ég c.ch..u:’. J_’i Lo 3
Differentiate between flexion and extension. -Z-f_-'-’ 5 I3 u"::'s lash (55 (i)

State four role of the skeletal system. o @ -8k Jb/zl:f. ("/ J’-"*J; (ii)
Define double fertilization. -._[f ...y/'"d' SIS (iv)  How dgﬁing occurs in Corals?%¢ Jﬁ.:.’..:r Lk A (i)
State the role of water or moisture for seed Germination. o {& © -af‘.-.( Jk MY J gdg é_:( Sz J E )
S\ LZEEG L im S\ Fanihe i)

i) State the Theory of Special Creation.-./ /uk - ¥ ¥ (vii)

swings:- 5x2=10 - /zfeiz AL &y « M Ldits -4
Teason. 2l [ fie Ve Sl ()
AL g el B kE (i)

) S )

Differentiate between breeds and varieties or cultivars

What is meant by Punnett Square. sl e &y

Answer briefly any Five parts from

What is Eutrophication? Write its a
What is global warming? Wri

Define ammonification.

Write two objectives of Genetic engineering ~£ 2 f»—*b‘» nl £ '/."7 Lz (iv)
What is gene Therapy. el Ve JAE ()
Differentiate between Antiseptics and Antibiotics. ,2_’; vk IS L t Cs;-w u’gf?f 6‘-' (vi)
Define Pharmacology. -é ..y/‘"J S 6 (vii)
What is Marijuana. Write its two bad effects. S fele inl Sie Stz e (viii)
Part H (9 e

Note: Attempt any two questions. 9x2=18 Sz lctrne §f o
(a) Define dialysis. Also explain haemodialysis. /,"4 -J.f.-)u, J /(_.15 i q_‘/ ...y/"'J A 0.5
(b) Describe in detail posterior lobe of pituitary gland. 5 Sl ke J2. i L o i (&)
(a) What is arthritis? Describe its three types. A4 -2;"; Jkr! Ldu o2 Y AT O-6
(b) Expiain the reproductive system of male rabbit. 5 2 ool - ;‘f};,g.J[. S (L)
(a) Define pollution. Write down the effects of air pollution. A4 :«.‘f ;f.—.!}lé &:’Télx-é - /U J»’l’ 0.7
(b) Describe the basic steps in Genetic Engineering. 5 Lok rou Ll £ 4 g (L)
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Use of ink remover or white correcting fluid is not allowed

PAPER CODE 3466

(2015-17 to 20

g Ll

1719 &%)

(f:_"f"i.i’.) 1019
(s o) (I8
()2t Jr2e 221525

Q-1

(D) (C) (B) (A) QUESTIONS
Jo & J5 221 )i 226 PN VPR Ay R s Vi B
Glycerol Ethanol Acrylic Acid | Formic Acid | This product uses in the production of
vineger and beverages.
ot s $o o 1 NS INIY P
Penicillin Cephalosporin Aspirine Tetracycline |Sir Alexander Fleming discovered the
5 (13 o J S e QWL L S| 3
Pharynx Eardrum Nasal Cavity Bronchi | THe empty sgge’é}gesent in nose is called
; W =2 .
@1;-—3;“ >y &JC“! / @\’-uga‘u_;t /b/{_r_.u?uﬁf 4
Mucilage Resins Latex Gums /‘W@\(%terials that are secreted by Keekar
; ] A\ % ) )
Py s de | Hadeis };!.,)a.tf@)\x ce B e e S| 5
) Parathyroid . . .
Pancreas | Thyroid Gland Gland Adr d | The largest endocrine gland in Human body is
LY T S Qf‘ Lf,;' - bl Ll i ..ﬁuﬁ | 6
Vitreous _ queous . N
Humour lodopsin Rhod Humour A pigment pref.e
Vs Jﬁg &4 R -5 rLl;ft{g_gd/;:c.,G.,g{ u"(f:’-’(;fl‘a.‘g 7
g The movement of an animal as a whole from
Growth Locomotion Movement Support one place to another is called
\—C:K ﬁd! dy.;)/,:/\fr—pc.’ ﬂ),_f'..}hj;‘-p - L/ﬂ)ﬁ./g’/jé Uy‘j/"l (}"‘JE//J Jisg| 8
Cloning Pollination Asexual Sexual Some invertebrates also reproduce through
Reproduction | Reproduction | binary fission.
# A s A g o d | 9
Stamens Carpels Petals Sepals The units of Androecium are called
e By’ b5 S < e S AE e ] 10
Recessive Dominant Phenotype Genotype .Th? ;pecuf:c combination of genes inan
individual is called
oA i Lo ol ce Quiz gty | 1
Carbon Cytosine Thymine Adenine Guanine forms pair with
C; »” :_' :" ’
el ptarSed (6 25 L-f-‘-c‘?f u’-"'@/.tds -c._t'l,v{b)/J,vg,- r‘/t:J‘rJ,/c 12
Nitrogen o 21 G Conversion of Nit itrat
Fixatgion Nitrification | Ammonification | Denitrification called or Nisrogei gas g neralos &
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Part I J:l -~

Answer briefly any Five parts from the followings:- 5x2=10 -q&;’.:.w,"z: 121 ég c:_ch..gﬂ ;ZJ Gn -2
What are vocal cords? What is their function. - J” l[b’ufu_r LfJM’ J:, (i)
What is Cellular respiration. -y Ve o s e (i)
Differentiate between acute bronchitis and chronic bronchitis. -u_f bk J/'ut‘.' urb‘:/. £ 50 J"’iﬁ‘:/. .:.:_f I (iii)
What is difference between transpiration and guttation. e IV u’-'{:l J"}w) (iv)
What is skin? Write its function. ...";-': Jk J" Ul sty Ve 2 (v)
What is feedback Mechanism. | - bl i L (Vi)
What is somatic nervous system. -y Ve ("’ Vst (vii)

Write two functions of oxytocin Hormone. & Juil ,:Luﬁy Jx‘.‘/ T (viii)

Answer briefly any Five parts from the followings:- 5x2=10 -.,[f{]’u&l?/"é 1Z1 &t c:.dfc_ufd'} o <3
Write down the difference between elastic cartilage and fibrous cartilage. _Jf/ju/;,ﬂ éﬂﬁ// Gl &5 ﬁ) ¥ Lunl (i)
What do you know about Andreas vesalius? ‘b V. o TSl u’? TS baiz (i)
Define multiple fission. Give example. g5 ol Jtmlu_f - /"'J u"' J u" (iii)
Write down two disadvantages of vegetative propagation. <e/ -u:'ﬁ.:.,tu'ﬁuﬁ w’-‘-c':{i:' (f': (iv)
What do you know about micropyle? ELV Tt Ll .J”L HA )
What is test Cross? Why it is needed? o %ﬁ} e dly J J/u[ ..,n/gfl % lf Jlf o (vi)
Differentiate between phenotype and genotype. ,q/ (‘: O/ .,Jt‘r.‘.?ulvt‘;f (vii)

What is meant by natural selection? fesly Ve 562 Ju0 (viil)
Answer briefly any Five parts from the@gs:- 5x2=10 ..L{/(}’.:.-Lli:/ﬂé 1z él'. a_ch.u:‘,wa -4
What is meant by ecosystem. e e 7 ()
web. RO s3I B39 (i)
xample. 2 Jeour v u:"lzl,:ui,af (iii)

Differentiate between food chain
What are endoparasites? Wri

Write two advantages of using fermenters. JEL R L Jen L (iv)
What is meant by genetic engineering. e e (v)
Define Pharmacology. K4 J/J GG (vi)
Differentiate between antiseptics and disinfectants. _.—_“: )N - u"‘n‘ IJisl u’" G (vii)
Differentiate between antigens and antibodies. _cf.-f I 2L o’-tul P s u’-! (viii)
Part 1 (v 2

Note: Attempt any two questions. 9x2=18 LI fe Ml s oS
(a) Explain the role of skin and lungs in homeostasis. A4 ,é = S /L Us el e S u"" v 0.5
(b) Describe the structure and function of spinal cord in detail. 5 ke L S ()
(a) What is arthritis? Discuss its types. / 4 _u_‘/ &5 ru‘: d’l = L[u"'?/.ﬁ 0-6
(b) What do you know about budding and fragmentation? 5 ELV TR N L e K s £4 ()
Explain with examples. -2’;: ol Y5
(a) Write note on Mutualism and Commensalism. /-_24 -:J .::"4()5 JL;I(;‘::: 0.7
(b) Describe basic steps in genetic engineering. A5 Efe JEP o L L7 S ()
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct:
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1

> S tx S4 et Sze S L | 1

Muscles Adipose Cartilage Bone  |Larynx is a box made up of
Ury Sir ¥ hy¥is e « dntsb uSad| 2
Brasica Lady finger Keeker Rubber Plant |Latex is released by
T 0 TS Jw‘:-dﬁ J’/'/K)/J&"C ol tn&w.b’z:’d»:’ 3
Hearing and Visual Controle of | )
Fear smell information | sketetal muscle Tempog{@ concemed with
e 137 " Jou . é&{, S L e ST | Jil a
Beina Eoves ‘. 5 dg\Cell? Q{@%‘}: :g; ao:?le to see during day time due to
S b S . J, £ cudedi Mdt e 2Lyl s
None Bone marrow | Compact bone ; ie h f bone in which blood vessels are found
e pidu b N12% 42 Sike txd’b’g’-‘f"!{;é&uﬂjg 6
Corm Rhizome ¢ Stem tuber | Vegetative propagation in onion is done by
2 JE & 7 > _q..a?;ri’f.z (:_.:{‘ 7
Root Flower Leaf Stem Reproductive part of plant is
O I T B e R LAl 8
'Z%?:‘?::,tf Co.dominant | Recessive Dominant | Albinism is a trait.
3700 28000 2800 2700 Uit e f eldJeadfuny L 4| 9
The no. of pea plants which Mendel used in
his experiments.
ABUM | esipadh | wtigit | wsigsd Y - RPN A RD
Both A B gg:?;:: Endoparasite | Ectoparasite |Mosquitoes, lices and leaches are examples of
P 31 A I e JeSehspdm | 11
Zymogen Interferon Pepsinogen Insulin An example of Antiviral protein
cf&‘jl':' ,WL) itk TS T -u_?JkaaLul Uhspbicon| 12
Analgesics Vaccines Sedatives Antibiotics | The medicines which reduce pain are cailed
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Part I s — -—

Answer briefly any Five parts from the followings:- 5x2=10 -‘,_r/{f.-,uz }'LIZI ég r_.dfc.u: J.’}Z-,u -l
Differentiate between acute and chronic bronchitis. S/ FOPS T K 2kt (i)
Wirite down any four symptoms of pneumonia. -u_’f_/f:,tw/._lg s (i
What do you mean by peritoneal dialysis? e slpe A S E (i)
What is the difference between transpiration and guttation? e o/ L_/ui’ gf-’{:l J'-'}L:f!/‘ (iv)
What is the process of lithotripsy? S VK3 AN G (V)
Define stimuli. Also give example. £ Seniy /. ..g/""J Surd (i)
Define coordination. Also write the names of its two types. el i wifinig S s PSFEELT (i)
Why iodine is essential for us? te- S LocsagLdf T (vii)

Answer briefly any Five parts from the followings:- 5x2=10 -u_'/;)’.-.ux/‘*élm 55 :.ch.uﬁ ‘,ti Lo 3
Describe the Role of Skeletal System. -2‘-: Wk ME ("’ s
Define Reproduction. 2SS i Define Origin an%@on-é i PSS A St (i)

_éu’/Ju’-‘gur’ J: (iv)
. Q(\O
Differentiate between sporophyte and gametophyte generation. < Q} i C Il w* y o ﬁé"&b‘!}z}" v)
Define transliation. é - /’J J“u!/ (vn) @Deﬁne genetics. ,’4'-: - /U e (Vi)
SR EY T A L b M il
@ .

Answer briefly any Five parts from the &oll \ﬁ}n s:- 5x2=10 -q/(/..-,uz Al && e tdsen A
wdoparasites. ZEOML u""’l/l,a:fc;w!u:"lzl,&;.( (i)
Ve rFSS i

Define vegetative propagation.

What do you mean by Incomplete dominance.

Differentiate between ectoparasites an

What is meant by commensalism:

What is single cell protein, e Yk S i)

What is urokinase? Write its use. L&l Ji1 KUl I_/ = 5,00 (V)

Write the names of two industrial products made through fermentation. ] rtiu"r}q Cf”): Ll bibe u’?}‘ (v)

What is meant by pharmaceutical drug. —e Vel Fr 6 (vi)

What are anaigesics. Give example. Edeur Jaj JEI (vii)

Differentiate between antibiotics and antiseptics. -é I/l u‘% J.‘i»lu'g:’ !,d;-' {viii)
Part II [

Note: Attempt any two questions. 9x2=18 JJ,/Q/’.-.,LI;Z[. = Ulrae Jf -
(a) How many types of Bronchitis? Describe in detail. A5 -ufga. J:‘“ fe. ((L:"d;r Sz 05
(b) Write parts of internal ear? How the process of Hearing takes place? A4 fe l'nd_/ J" 24 -u.j(tﬁur"L K dst ()
(a) Write a note on types of joints. Also give their examples. / 8 wifs uilf/ J ul/sl-u.‘g;,i{(b"l J J"’ ;;? 0.6
(b) Describe four ways of natural vegetative propagation. A4yl Sl J-“-: s/;;‘j’ dud o)
(a) What is Pollution? Explain effects of air poliution. A5y Sl Seinl J am el Ve J»’i ()
(b) Give Achievements of Genetic Engineering. A4 _u/ Uk utv;p(l, £ /" | (L)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fili that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

' will result in zero mark in that question. Write PAPER CODE, which Is printed on this question paper, on the both
sides of the Answer Sheel and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not aliowed

(D) (C) (B) (A) QUESTIONS Q-1
A iz v Adu g e i 2 Kf L | 1
Endonuciease Lipase Amylase Ligase The enzyme which is used to cut the gene of interest is
by Us Ui ssi | by UsUdvole | g U s ot by Ul o' St | s F % 9
Yellow Black flowered Orange Purple Foxglove is a
flowered plant plant flowered plant | flowered plant
§i52 31 =31 Jus 31 ¢ 31 A Foliretkidndis| 3
31st of Every yeargthe/World No Tobacco Day is
Jansuary 31st of August| 31stof July | 31st of May celegr;(gqg ., .!/ .
o K Jrst Jo y I/;:J{’ o @% -t Kt wlen Ll 1db§msg sle S| o4
Q>
Nephron Renal tubule Ureter %_etween Kidney and Urinary bladder is
dud 5T Sis VRIS o Fe o §ermi i, | 5
Temporal Occipital Parietal ‘~ Tlﬁbe co hedlivith hearing and smell
Yo%, Sy T /}ju'?v-(' e bl Ll Jaﬁ;ﬂ& i 6
Vitreous _ Aqueous . _
Humour lodopsin Humour | Rods contain a pigment
12 08 24 —e I Suss S| 7
Numbers of Cranial bones are
...«l; » I Jb( -4 J&JJ:‘-’;L‘J L/‘f:d{_’d__ué =l 8
Rose Willow Hazel Grass An example of insect pollinated flower is
A P ﬁ-iu:‘é;l r(‘f(jg - t'n'.»‘?d,«_);a)l. (‘J}.’; 9
Sepals Petals Androecium Gynoecium | The female reproductive part of flower is
rrr‘:/ Vsl ;c‘-)l u":/’ q_’_LdJ?Jwé:{(fJ‘?-gJ&Lgﬂ/’u(DNA 10
Chromosome Gene Alleles Traits - eb U SLIgay
The part of DNA that contains the instructions for
the synthesis of a particular protein is known as
i A8 s s cest2EFLnB S| 1
Person with blood group B has genotype.
(~3ril L2 £7 p —e i Sesbimil| 12
Plasmodium Lice Leech Mosquitoes | An example of endoparasite is
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(1) 2k Gk (2015-17 & 201616 %) mar/) (280 Bdy
a8t & 145
Part i J:l .................. g
Answer briefly any Five parts from the followings:- 5x2=10 -q/(f..-,uz/"?élm && a.ch_uﬁ Sipn -2
What is Pneumonia? Write its symptoms. Ay e S ‘e s’ (i)
Write function of Hair and Mucous in the nose. S LSS W &S i)
Define osmosis. &S U i)
What is the role of skin in controlling temperature of body? T mIIAES S e hronl (2 K4 (iv)
How do the plants excrete extra water from their bodies? s\,gz./ b g'}g AL )’Ic., () sy (v)
Describe the Pupil reflex in dim and bright light e S bdm S i)
Why owl is not able to see during day time? o s sl 5 L s i i)
Write name of two disorder of eye. ‘ -u‘..‘”/(t[.u‘j Gl T (viii)
Answer briefly any Five parts from the followings:- 5x2=10 -q/(f:,yuz/'i‘é I1Z1 &l‘ c,ch..u: J_’j sr -3
What are hinge joints? Write two examples. &k {/’u‘ft’mug g et (i)
Differentiate between biceps and triceps Muscles. & Zj bOpL P Ui JY J[. (ii)
Define parthenogenesis. Write two examples. @Q uﬂ%:»l ’cf.-( ..y/U u"-?'g-’jg (iii}
Define alternation of generation in plants. % -q{ Ny &f'{}zdfuﬁfﬂ T2 Uy (iv)
Define Multiple fission and give an example. & L3 JE st é i /7(,( u”d L;J' (v)
Define Transcription. %@ -2_’:( .4/7‘5 = Py (vi)
Differentiate between Dominant and Recessive A@ -z-’: UkI L J’fl 20l LA (vii)
What is meant by Artificial Slection. <& —e Ve st S5 (i)

Answer briefly any Five parts fr e followings:- 5x2=10 ..;(/(i:.«yfl/"?élzi & ;J/:;.vu: J_J s -4

Define species. - SIS ZE W
What are decomposers give example. | Uy g;,;,;f S (i)
Define biotechnology. . “EE Ly PLEILAL (i)
' What is meant by nove! protein or minifood. - sy l_f.::. 5}[( 4 ‘9'5;4 J;t (iv)
What is the full name of GMO. | < JF¥S GMO (v)
What is a drug. ce Ui (i)
Write some medicine obtained from plant and fungi. @b rtéagnlﬁ: dhdx J‘ br_(j(};/:l U0y (vii)
Which organ is affected by the use of expired medicine. -g-tn }C‘t ST e S i .-,g»r,p/u’u (viii)
Part II (» o~
Note: Attempt any two questions. 9x2=18 wi] ):/i:.«&iﬁé =lyrne 6/ g
(a) Describe the functioning of Kidney. A0 -é 0% J” et O).5
(b) Explain Nerve cell or Neuron with diagram. Aoa Sl S oL S ()
() Write a note on the role of biceps and triceps muscles. / 5 d// /'..,:'/ ML J.L..d Hngp u" Bt e 23l O-6
(b) Explain female reproductive system of rabbit. A4 _J/ =2loy J(uv Sl L in ()

(a) Define symbiosis and also describe different types ) L o & Oo7
of symbiosis with examples. / . d/ul' v P&) LS ‘J/” 'f{"’/ J/ U;

(b) Write a note on alcoholic and lactic acid fermentation. ﬂ‘ 4 ”u'j"'j{ ‘ﬁ?w '@”,Mﬁ (h")’
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